B VCE & PDF https://lwww.geekcert.com/c8010-241.html
' 2024 Latest geekcert C8010-241 PDF and VCE dumps Download
: GeekCert.com

C8010-2410%As

IBM Sterling Order Management V9.2 Solution Design

Pass IBM C8010-241 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/c8010-241.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

C8010-241 PDF Dumps | C8010-241 Study Guide | C8010-241 Exam Questions 1/3


https://www.geekcert.com/c8010-241.html
https://www.geekcert.com/c8010-241.html
https://www.geekcert.com/c8010-241.html

VCE & PDF https://lwww.geekcert.com/c8010-241.html
2024 Latest geekcert C8010-241 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which three of the following are TRUE in a single instance multi-schema deployment?

A. Additional schemas can be added to an existing enterprise.

B. Ship nodes can be shared across enterprise in separate schemas.

C. Enterprises upgrade independently, due to isolation of Transaction data.

D. Enterprises can inherit rules from another enterprise within different Configuration schemas.

E. Enterprises can inherit rules from another enterprise within this same Configuration schema.

F. Application server monitoring/maintenance can be performed at an aggregate level across all schemas.

Correct Answer: CEF

QUESTION 2

A business wishes to populate additional information on items for which there is no corresponding field in yfs_item. This
can be achieved in two ways: 1.by extending yfs_item table, or 2.by populating the additional information as attribute
name and value pairs on the item. Which use case will result in the selection of option 1?

A. The new information is required as a Filter attribute on a UI.

B. The new information needs to be searchable using searchCatalogindex API.

C. The new information needs to be searched extensively using getltemList and related APIs.

D. The new information needs to be used to configure and determine pricing and entitlement rules.

Correct Answer: C

QUESTION 3

In the integration between Sterling Order Management V9.2 and WebSphere Commerce, which of the following actions
will a customer service representative be UNABLE to take when entering orders through the Sterling application?

A. Make manual adjustments in an order.

B. Enter orders for a customer who has no customer ID.

C. Pre-populate customer information from WebSphere Commerce.

D. Tell customers about promotions and discounts applied to the order.

Correct Answer: C
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QUESTION 4

A retailer wants to enable the selling of open box items online. How can this be modeled?

A. Model this as supply type and match the supply and demand using supply type.

B. Model this as an inventory segment and have the supply and demand match on segment.

C. Model the item as tag controlled and have the system match supply and demand using the tag.
D. Model the item as serial tracked and have the system match supply and demand using the serial.

Correct Answer: C

QUESTION 5

A business needs to integrate with a website in order to provide inventory updates from Sterling Order Management.
The requirements are as follows: Requirement 1 - Send a message to website with inventory picture each time it
crosses a threshold for minimum/maximum. Requirement 2 - Send a message to website with complete inventory
picture once a month. Requirement 3 - Resend the last inventory picture ad-hoc when explicitly requested by website.
This setup should be implemented as an:

A. event-based (RTAM) monitor and setup thresholds. Implement:Requirement 1, using activity sync modeRequirement
2, using full sync modeRequirement 3, using quick sync mode

B. event-based (RTAM) monitor and setup thresholds. Implement:Requirement 1, using quick sync modeRequirement
2, using full sync modeRequirement 3, using activity based mode

C. action-based (Availability) monitor and setup thresholds. Implement:Requirement 1, using activity based
modeRequirement 2, using full sync modeRequirement 3, using quick sync mode

D. action-based (Availability) monitor and setup thresholds. Implement:Requirement 1, using quick sync
modeRequirement 2, using full sync modeRequirement 3, using activity based mode

Correct Answer: A
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